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Equilibrium exists in a system where three
forces are acting concurrently on an object.
If the system includes a 5.0-newton force
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Which terms represent a vector quantity
and its respective unit?

A weight==kilogram

B ss = kilagram
C force =/ Newi
D meniwm F#~ Newton

Two forces are applied to a 2.0-kilogram block
on a frictionless horizontal surface, as shown in

A 2,400-kilogram car is traveling at a speed
of 20 meters per second. Compared to the
magnitude of the force required to stop the

the diagram below. F,=80 N-Fz 30N
>
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above the horizontal.
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A an unlimited number
B two components
C three components

D four components at right angles
to each other
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concurrently on a point. The resultant
of the two forces is {

N
A 5MN-northeast @
B N o vest Wo e -E
C | northeast
D Lwe: Y D

S

The graph.belaw represents e relationship
between theviorces applied to'an objeciana
the corresponding accelerations produced.

What is the inertial mass Force vs. Acceleration
of the object? 20 ‘
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A 1.0kg
B 2.0kg
€ 0.50 kg
D 15kg
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